T @i EF 109 2FEF —2WME —REFNFREZHREE
H[E:1-1~2-1 EaR - JREEE W

FHEfER  FREEREEES E - THER |

— - BEREE (FE 37 60 7)

( ) 1.9212—820° Hy{EE TN H1 IR By (5 8 2

(A)921 (B)820 (C)101 (D)100

) 2. BHUUAr[EEAETEE Y 8.5 AYE » IRy T AT -
B ¢ 8.52=(840.5)2=82+2x8x0.540.52

17 172
INME 85 =(5) =7

fTH : 8.52=82+0.5

Pl 8.52=(9—0.5)>=92—2x9%0.5—0.57

OSRIEVD B ARG A ST R A T T $EER - AR R IR 2
(A) N (B) A& (C) FH (D) [k

) 3. EHEHIERENZEF -
(A) (87 =8+ (B)193x207=193>—207>
(C)(m—n)?=m*>—2mn—n*> (D) 2014>=2000%+2x2000x14 + 14>

) 4 FHEIEH(a—2) + b+ 3+ 7 B EEEZIEN - Al a ~ b IR K] ?
A)a=0>b=0 Ba=2b=3 (Ca=2b=-3 Da#2>b+*-3

) 5. EHE642—362= 2 (A)280 (B)784 (C) 10000 (D)2800
) 6. $5(49.5)2 =502 + 5 > ks= ? (A)49.25 (B)—49.25 (C) —49.75 (D)0.25

) 7. BHIA By x N _WEIEF > B By x 1—RZFHE > Al A+2B Fy x Y8R IER ?
(A) I (B) =X (©) =X (D) —X

) 8. AR —{E Bty FE R TE A ?
(A)¥+x> B) —x*—2x—1 (C)4x—1 (D) —7

) 9. THIM—{E= T2 x* BIEFHE ? (A) gxz (B)4x* (C) —8 (D) —x
) 10, EFE@x+5+2x)+(1+2x+x2) =2
(A)5x2+7x+3 (B)3x2+6x+6 (Cx?+2x+4 (D)3x*>+5x+7

) 11 BRI IEAEL(—4x% + 1 + SRR x> + 5 — 2x > RIEEZTEZ R 2
(A)5x% —7x +4 (B)—x3+4x?>+3x+6
Ox3+4x>—7x+4 D)—x3+4x*+7x—4

) 12. H—ZTE0 A Bi3x — 10MY3RFEE6x° — 11x — 30 > SKILZTEZ A Fyf] 2
(A)2x—3 (B)18x?—6x (C)—18x*+6x+3 (D) 2x+3

) 13, BFEVI+VI+VI+V1 = VA HIA=? (A)1 (B)2 (O)4 (D)16

Y14 ERx+1D)?*-2x+1D2x =1 =ax?+bx+c> Hla+b+c=2
(A)10 (B)8 (C)6 (D)4

GREI R FE)

G

[1-1]



( ) 15. V20 B TFHIGHEEREIL 2 (A)4 (B)45 (C)5 (D)5S5
( ) 16, HEAPAVERE H(10x% —x - 3) » HERSZQRx + 1) » IENERZ%/D ?
(A) 10x—6 (B) 5x+2 (C) 10x+6 (D) 5x—2

( ) 17. FEZIER6x® — 6x2 + 6x + abRllx — 3FTEEIER N B—4 > Ala=?
(A) 126 (B) —126(C) 130 (D) —130

( ) 18. NIRRT (R 2
(A) % a2 36 B FI5IR > il —a 2 36 BYFITIR
(B) —8*=—64 - FrLl—8 & —64 HIF-ITHR
(C) (EMEF AR VIR - H A RHRE
(D) FrA IEEHYFITRAKRL 0

()19 % a=—VEB b= —T~c= = |2 Hila~ b c BN B 2
A)ya>b>c B)c>b>a (C) b>a>c (D)c>a>b

) 2081 5HR= 2 (A) +V81 (B) +9 (C) +3 (D) +V3

N\

= s (835 > $£3057)

I FIAZAEAAGTE TFIE1E -

(1) 996> — 16= @ - () (2992 )= ® > (3) 1962+ 196x8 + 16= ®
2. #5(383 —83)>=383%—83xa > Hla= @
3. H RIS :

1D Cx-1D(=x+4) = ®

2) (4x? —2x +1) + (3x% — 2x + DAYRE Sy ® » BRI @D

3 3x-6)--D+(x+1) = ®

4. #(x* — ax + D(Bx — )R - x*HAGEZE -8 » AT AN GEE ©)

5. FIFRARIEE » DIA-5r@iriokvi7 (i UE R (CAPUFE FL ATEKE/NECREIR S5 1417) -

N N2
4.1 16.81
4.2 17.64
4.05 16.4025

[2-1]



= HEE (#£109) XF/NOEtRE  RAERESR - T e
1AEfE(8x? + 5x — 6) + (ax? — 6x + D)AVEEIR - FEx*THNARE R 2 - WHOAK 3> Ala~ b 3R R%/ 0 ?

(6% > —{EEZE 3%) [1-2]

2. AlEE—ET3x + 11 ~ Rdx - 200RITIVE S WEMR RS R x BUARER > 235 ~ £~ A~ TIUBREITIPHY

W R+ 2+ W+ THHEEAEZ/D ? (CLx (IZIEAFR) (4%)
adx—2
4 A
N
HH Z
X 3x+11
& T
J
X

GG  FREEREEES D)




P A EA T 109 L FEF —P2HE —REZNFRUZFHLESL

H[E1-172-1 Pk - JESE - 4
— ~ B (83 7y 360 7)
1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20

G)
S
C)
©)
®

ju!

= EFUIEL (4510 57) MEH A BA R FREA - RTH A

1. {BfE(8x* + 5x — 6) + (ax? — 6x + D)WEEIR » FEx*THIAE 2 - WRUAR 3> Ala~ b 3 HIR%/?

(6% » —fEZEZE 3%)

2. AEE—ET3x + 11 ~ Réx - 209RTIVEF > WEMRRE Ry x BIARER > 775H ~ £~ A~ TSR IGTIPHY
B SR+ 2+ W+ THVEREAHZ D 2 CLx WEHEARTR) %)

4x—2
- A

X 3x+11




